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Il Semester B.Com.3 Degree Examination, Nov./Dec. 2016
INDUSTRIAL ECONOMICS
(Fresh and Repeaters New Syllabus)

Time : 3 Hours - Max. Marks : 80

Instructions: 1) All sub-questions should be answered at one place
continuously. Quote facts and figures to support.

RARLITND ;D) wwv’—gg?@ff&oa’e BT PO LITO0, & F 05— 0TI
cOag w_g’o’fffs%dd) AeDRERO.
2) Answertoall Sections should be written in the sameanswer book.
DR DG/ Uvgdffﬁdi 2 0FC VFT TGFODEG) 2)T0,

SECTION — A/wen - &
1. Answer any ten of the following questions in 2-3 sentences each: (10x2=20)
FINS L3500 B2 @)’éﬁ@ﬁ 2-3 m%ﬁeéq VB0 :
a) Give the meaning of Industrial Economics.
gMo0se @cﬁrmﬁo’a 3 oF 3RRD.

b) What do you mean by PPP model ?
72.809.3. (PPP Model) S350 058630 ?

c) What is vicious circle of poverty ?
WESTT DRIBOF S DOBTEI ?

d) What is liberalisation ?
LVTIDOCBTED DOTTERO ?

e) What do you mean by Global Village ?
DB, TR, DOWTER ?

f) What is industrial location ?
30T A A3er 33 DOTTER0 ?

g) State any two objectives of Industrial Policy.
EJADISERENeve 23eETI DT LTI BT TR0,

h) Who advocated ‘Location Factor’ ?

‘3¢ ATeF T[T 90T T T TR OITRTITO ?
o = P.T.O.
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i) Distinguish between trade credit and trade advances.
DYETV0 WY TP 20 WONENE [BYR EVR0.

j) Expand FERA.
FERA — 270 w5c200.

k) What is EXIM policy ?
EXIM (3.%5) de8 20r38exd ?

l) Define FDI.
R.3e.mR. (FDI) 3,33, R&D.

SECTION — B/an - 2

Answer any three of the following : ' (3x5=15)
PN v 0T, NUZ0RD:

2. Examine the factors influencing industrialisation in India.
WTIT EMR08eTRCS B0edS I LT eﬁosﬁﬁ@ddz{ T0dDRD.

3. Write a note on joint sector in India.
POTBEE Fo0dT BT wrﬁ\ 8358 2030000,

4. What are the highlights of industrial policy of 1956 ?
19563 BARNE De3oD T3 L03NFIR)D) ?

5. Explain the role of IT in e-governance and e-marketing.
B ST R B-BROUNES Bk 0N T3 TZI DBORO.

6. Examine the merits of FDI.
NS J0 BREBOD msar{%f&l TO8CAD,

SECTION - C/nzon- &

Answer any two of the following : (2x15=30)
IBNS Yoo TTE QUZ00: T

7. Explain the factors inhibiting industrialisation in India.
AReT Al %mbéeédsaﬁ SNTFONTOR @o@ﬁr{#d& QWOO.

8. Critically examine the Alfred Weber’s theory of industrial location.
B P T [wo* B rwdse %@eédsad ATHOBHI) 0T ZBemoN TOSCORD.
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9. Discuss the main features of Industrial Policy of 1991.
19913 3170050 031 0D WFLIMNTI) WesF 0.

10. State the demerits of FDI. Examine the government initiatives and policies
towards FDI.
D.3e.Bn. (FDI) esronnds) Sevd. d.8exn. (FDI) wing 3550s 30 #3083
cﬁraede—émﬁaigt T08eDRD.

SECTION -D/&ywen- &

Caselet: (1x15=15)
28 DBHIT: '

11. Finance is the life blood of every business. Industries require finance to meet
working capital as well as fixed capital requirements. India has established many
financial and banking corporations to meet these requirements. They include
IFCI, SFC’s, IDBI and EXIM Bank. These institutions have helped industries in
their prosperity. '

Questions :

a) Mention the purposes of finance required by industi'y. 5
b) State the internal sources of industrial finance. 5
c) Explain the functions of IDBI. ' 5

TR AU FFWHOONY Weemo¥. FMoOdnen TRV 2OBY B AT WoBTY
Covl ﬁéﬁeﬁa’n ogjad T BEFTOAD weﬁo B3 BZTINIR), BPTRCO LTBY @5@3 TEITORD
53333 W08 aﬁwzﬁ@&—a&;’ucﬁ SINTE 5037, @w’ 2.63035°. (IFCI), o=°.255°. &. (SFC,s),
efojf @ 0. e303°. (IDBI) 5333 28335 (EXIM) 239,087 & 330020550N3, B3 &R, BORNED
SO V% © zﬁejdséﬁojae; —asm% 30D 2’0@@53 '

ZIned:

a) VAR LTI BT YUBEBRTR) S9R0. 5
b) 3005 BT LS0BOT BULTHR) TewO. 5
C) 503°.8.0. 0. (IDBI)daaojorr{e.ﬁﬁg( QTOR. 5







